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WORKBOOK ANSWERS

 OCR AS Psychology Unit G541

 Psychological Investigations

This Answers book provides guidance on the content and characteristics of effective answers to the questions in the workbook. It does not provide model answers for each question. These answers are intended as a guide to give teachers and students feedback. 

Where a question calls for a specific response, a detailed answer is provided. For questions that could elicit a range of answers, a list of the most probable responses is included. Use your discretion when marking unexpected responses by assessing whether the question has been answered.

The examiner commentaries have been added to give you some sense of what is rewarded in the exam and which areas can be developed. Again, these are not the only ways to answer such questions but can be treated as one way of approaching questions of these types.

 Topic 1 Ethical research
1
harm

2
embarrassing

3
deception

4
deception

5
withdraw

6
deceive

7
public

8
colleagues

9
consent

10
debrief

11
sensitive

12
informed

13
purpose

14
brief

 Topic 2 Self report 

1
In a structured interview, participants are asked the same questions in the same order and comparisons can be made between people’s responses. Conducting structured interviews can be time-consuming and requires skilled researchers and interviewers. In contrast, in unstructured interviews, there may be a set of discussion topics but participants can answer freely, which provides rich and detailed information. The research cannot be replicated, however, and people’s responses cannot be compared easily.

2
One of the following answers:

· One advantage is that self-report methods are a practical way to collect information quickly from many people. 

· One advantage is that you can access what people think and feel rather than having to deduce this from their behaviour.

3a
One of the following answers:

· One advantage is that data can be collected from a large sample of mothers.

· One advantage is that first hand data can be collected from the mothers who probably know the most about their child’s social behaviour.

b
One advantage of collecting quantitative data is that the data are objective and hence statistical comparisons can be made between groups of scores. 

c
‘Does your child share his/her toys willingly? Yes or No’ is a closed question because it forces participants to choose one of the two answers. 

d
One advantage of using closed questions is that responses can be counted to collect quantitative data, so that comparisons can be made between groups of scores.

e
Qualitative data are subjective, often first hand, and are rich in detail and description. This rich detail allows researchers to understand how participants think and feel.

4a
Possible answers include:

· One strength of using a self-report method is that data can be gathered first hand from the motorists, and data on the extent to which they feel stressed while driving could not be gathered by observational or experimental methods. 

· One strength of using a self-report method is that quantitative data on levels of stress, as well as qualitative data explaining the reasons for the stress, can be collected.

· One weakness of using self report is that responses can be affected by social desirability bias — in this case motorists may not wish to reveal whether they feel stressed.

b
Many suggestions are possible. For example: ‘On a scale of 0–10, where 0 = not at all and 10 is extremely, how stressful do you find driving in the UK?’

c
Possible answers include:

· People may be stressed before they get in their car and start driving, and then may report feeling stressed for reasons other than driving in the UK. Unless these factors are controlled we cannot assume that it was the driving that caused the reported stress. 

· The responses may be biased by social desirability because people may not want to admit that they drive while they feel stressed. If this is the case, we have not obtained a valid measure of stress associated with driving.

Exam-style questions

1
One open question is: Briefly describe your best friend. (1 mark)

One closed question is: Do you quarrel with your friends?    Never    Sometimes    Often (1 mark)
2
Possible answers include:

· One strength of the closed question is that responses to each of the three options can be counted, giving quantitative data. 

1 mark; a strength is identified but not explained.

· One weakness of the closed question is that it only collects the frequency of quarrels with friends but the frequency data do not explain why people quarrel with their friends. 

3 marks; a weakness is identified and explained.

· One weakness of the closed question is that the participants may all subjectively interpret ‘sometimes’ as meaning a different frequency, but these individual differences would be hidden, thus reducing the validity of the research. 

3 marks; a weakness is identified and explained.

· One strength of the closed question is that responses to each of the three options can be counted, giving quantitative data. This is an advantage because statistical analysis can be undertaken to make comparisons between student friendship patterns. 

3 marks; a strength is identified and explained in the context of the research.

3
Qualitative data are subjective, often collected first hand and are rich in detail and description, helping researchers to understand how participants think and feel.

4
Qualitative data would be collected from the question ‘Briefly describe your best friend’ because participants could describe their best friend in as much or as little detail as they chose. 

1 mark for the appropriate question, 2 marks for the explanation in context.

5


	
	Male
	Female

	Mean 
	3.8
	4.9

	Range 
	4
	2

	Mode
	4
	4


Answers may suggest:

· On average females reported having more friends than males — 4.9 friends for females and 3.8 friends for male. (2 marks)

or other appropriate findings from the table.

 Topic 3 Experiment

1a
Laboratory

b
Field

c
Natural (quasi)

d
Field

e
Natural (quasi)

f
Quantitative

g
Qualitative

h
Ethics

i
IV

j
DV

k
Controls

l
Quantitative

m
Qualitative
2
A laboratory experiment takes place in a contrived setting, such as a classroom or laboratory, but a field experiment takes place in an everyday situation, such as a hospital or school. One main difference is the level of control that the researcher is able to establish, usually high in laboratory experiments and usually low in field experiments.

3
Possible answers include:
· One advantage of laboratory experiments is that the experimenter is able to control variables other than the IV that could either mask the effect of the IV or have an effect on the DV. Having control helps researchers to draw valid conclusions about cause and effect.
· One disadvantage of laboratory experiments is that the experimental setting may not be similar to situations in which the behaviour being studied occurs, in which case the findings may lack ecological validity (real world realism).

4
Possible answers include:
· One advantage of field experiments is that the experimental setting is realistic. This means that the findings have ecological validity and may apply better to real life situations.

· One disadvantage of field experiments is that researchers may not be able to control extraneous variables in which case variables other than the IV may have an effect on the DV, reducing experimental validity.

5
The defining characteristic of a natural experiment is that the IV is naturally occurring, for example sex or age, or type of job, thus participants cannot be randomly allocated to experimental conditions. In a natural experiment, a pre-existing IV defines the conditions of the experiment. 

According to Hugh Coolican, in a natural experiment the independent variable is not manipulated by the experimenter. Gender is not altered by anyone and therefore Coolican calls these ‘difference studies’.

Exam-style questions

1
Example 1:

The research method the teachers decided to use is a natural experiment because the students were already either in the noisy classroom or the quiet classroom and cannot be randomly allocated to the experimental conditions, thus the IV occurs naturally. 

4 marks — 1 mark for the correct method, 2 marks for appropriate explanation and 1 mark in context.


Example 2:
The research method the teachers decided to use is a field experiment because the research took place in the students’ everyday classroom environment. 

2 marks — the method is incorrect but the explanation is clear and in context.

2
The IV was whether the students took the psychology test in the noisy or quiet classroom.

The DV was the score out of 20 on a test on the core studies. 
3
The score out of 20 was quantitative ‘numeric’ data; each correct answer scored 1 point.
4
Many different answers are possible. For example:
Various factors may affect the test score, including:

· how hard each of the students works normally

· individual differences in the students’ abilities

· how many absences (sickness or holidays etc.) each student had
· different class teachers

5
Possible answers include:
· Informed consent must be gained from the participants, and to obtain this students should be told that the purpose of the study was to look at the effect of building noise on their learning and that they would be tested on the core studies. 

3 marks; ethical issue identified and an appropriate suggestion given in context.

· When the research is completed, the teachers should debrief the students, by answering their questions and telling them when and where the results would be published. 

2 marks; an ethical issue is identified but the suggestion is not in context

 Topic 4 Research design
1
The IV is whether the students learn the words in a quiet room or a room in which loud music is playing.

The DV is the score out of the 20 words the participants recalled. 
2
This is an independent design because the psychology students were randomly allocated to either learn the words in the quiet room or the noisy room, thus each participant only experienced one condition of the IV. 
3
A repeated measures design would have been an advantage for this study because individual differences in memory ability would have been controlled had participants taken part in both the quiet and music playing conditions, thus increasing research validity.
4
In the G541 exam, 10 marks might be awarded for this type of question — 5 marks for the description and 5 marks for the evaluation.
For the 5 AO1 marks, remind students that they are expected to describe how they obtain a sample, who comprises the sample, where the sample is obtained, which research method is used, how participants are allocated to conditions (if appropriate), what participants are told, examples of materials (if appropriate), what participants do and how data are obtained (scores and scoring etc.)

For the AO2 marks, students should write at least two points. Evaluation points must refer to the context of the investigation. 

For example:
· One weakness of the procedure is that the research findings will have low ecological validity. This is because students had no motivation to learn the 20 names of animals, flowers or trees. Thus, even if there were a difference between learning in a quiet room and learning in a room in which music was playing, we cannot assume the same effect would be found between students who listen to music when revising.

 Topic 5 Observation
1
A wide range of suggestions may be made, for example:
· hitting others

· shouting at others

· snatching toys from others

· fighting with others

2
Possible answers include:
· One advantage of naturalistic observations is that the research has high ecological validity. This is because the children’s behaviour is observed in its usual setting and because the children are unaware that they are being observed, there are no problems with demand characteristics, so children will behave in the way they usually do.

· One disadvantage is that only quantitative data can be collected because observers cannot gain explanations for the observed behaviour (because they do not ask the children to explain). Thus observers may misinterpret the behaviour they observe, and may categorise ‘play fighting’ as aggression.

3
Suggestions include:
· Ensure parents are informed of the true purpose of the study in order to gain informed consent and also gain consent from the school or nursery school as appropriate. 

· Protect the child participants by ensuring that they are not upset to be observed by strangers. 

· Debrief the parents fully and ensure that they are happy to have their data included in the study. 

Exam-style questions

1
Suggestions include: 

Sending text messages, playing music, talking on the phone, using an app, connect to the internet, taking photographs, video film. 

1 mark for each appropriate suggestion, max. 2 marks.

2
Example answer:
We would observe an opportunity sample of participants in the 6th form social area at break time on Wednesday when there will be about 50 students present and it is ‘free time’. The sample observed will be aged between 16 and 19. We will observe for 15 minutes. The behaviours we will observe are texting, listening to music, talking on phone, taking photos. These categories of behaviour have been chosen because they are observable. This is event sampling and a tally chart record will be updated each time we each observe one of the four categories of phone use. At the end of the 15 minutes a total for each of the four categories of phone use will be calculated. 

4–5 marks awarded. Sampling, location, categories of behaviour are clear. The method of scoring is also made clear.

3
We would use event sampling to gather data because each type of ‘phone use’ observed will be a specifically categorised event, e.g. texting, and we will just tick the tally chart each time we observe one of the categories of phone use. We do not know in advance how many observations will be made. 

4 marks: correct sampling technique and appropriate explanation in context.

4
Example answer:
We could conduct a pilot study the day before by observing students in the social area for 5 minutes and then comparing our scores for each of the four categories of phone use to check they were the same. If the scores were the same we would know that we were both scoring the phone use behaviour in the same way. 

4 marks — 1 mark for ‘conduct a pilot study’, 1 mark for brief description, 1 mark for ‘compare the scores’, 1 mark for appropriate context.

 Topic 6 Correlation
1
A negative correlation is one in which as one variable increases, a second variable decreases. For example, as the number of psychology lessons missed increases, the marks in a psychology exam decrease. 
2
A scattergraph can be used to show the relationship between two sets of scores. 

Remind students that a scattergraph is only appropriate when a correlational design is used. 

3
One disadvantage of a correlational design is that even if there is a significant correlation, no statement can be made about cause and effect because it is never possible to say that an increase or decrease in one variable caused the increase or decrease in the other because other uncontrolled variables may also have an effect. 
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b
The scattergraph suggests a positive relationship between the number of lessons attended and marks awarded in the exam. 

c
Possible answers include:
· The teacher’s statement implies that there is a cause-and-effect relationship between not attending lessons and failing the exam. However, in correlational analysis, it is not possible to exclude other variables, such as how hard each individual student works, individual differences in ability, or exam stress. Thus, no conclusions can be drawn about cause and effect because the correlation may be a chance effect.

Exam-style questions

1
Example answers:
· There will be no significant relationship between the time a person slept the night before (in hours and minutes) and verbal ability measured by how many words beginning with ‘s’ they can list in 
1 minute. 

4 marks — 1 mark for correct null, 1 mark for relational hypothesis, 1 mark for operationalised variable 1, 1 mark for operationalised variable 2.

· There will be no relationship between verbal ability and how long a person sleeps. 

2 marks because neither variable is operationalised.

2
Many suggestions are possible but each suggestion should identify the strength and weakness, explain the strength/weakness and contextualise the argument. An example strength is:
· One strength of measuring verbal ability by counting words beginning with ‘s’ is that the scores are an objective ‘matter of fact’ and are quantitative data. Quantitative data can be ranked and plotted on a scattergraph to show the relationship between amount of sleep and verbal ability.
(3 marks)
3
A positive correlation is one in which as one variable increases, so does the other. For example, as the temperature increases, the number of ice creams sold increases. (2 marks)
4
One advantage of using correlational analysis is that if two variables are correlated, it is possible to predict one variable from the other. This is useful because if the amount of sleep a person has is related to their verbal ability, we can advise students who have essays to write in exams to go to bed early the night before their exams. 

3 marks — 1 mark for identifying an appropriate advantage, 2 marks for an explanation of the advantage in context.

 Topic 7 Planning a research project
1a
Validity

b
Validity

c
Qualitative

d
Reliable

e
Ethical

f
Reliable

g
Quantitative

h
Ecological

i
Controls

j
Null

k
Positive

l
Scattergraph
2
The aim is to find out whether students (young people) have better memories than teachers (older people). 

3
Example answer:

A natural experiment will be the method used in this research because the IV is whether the participants are students or teachers and this is a naturally occurring characteristic. An experimental method was selected to control for other variables that might account for differences in memory.

Remind students of the difference between laboratory and natural experiments. 

4
When asked to memorise and then recall a list of 20 words, students (young people) will remember significantly more words than teachers (older people). This is a one-tailed hypothesis because it predicts how the IV will affect the DV by stating which group will remember more words.
5
When students and teachers are asked to memorise and then recall a list of 20 words, there will be a significant difference in the average score of each group. This is a two-tailed hypothesis because it does not predict how the IV will affect the DV, only that the IV will have an effect.

6
When students and teachers are asked to memorise and then recall a list of 20 words, there will be no significant difference in the average score of each group. 

7
The IV is age — operationalised as younger (student) or older (teacher) whether the participant is a student or a teacher.

8
The DV in the study is how effective the memory of the participants is. This will be operationalised by administering a test in which participants will be asked to recall as many items as they can from a list of 20 words they have learned for 1 minute. 

Students could rate each other’s ‘operationalisations’ for clarity.

9
Possible suggestions include:
· Use an independent design because the participants are either a student or a teacher.

· Use a matched sample design where students and teachers are tested prior to the experiment and matched on some characteristic such as IQ or stress levels or tiredness, all of which may affect how well they perform on a memory test. A matched sample design will increase experimental validity as individual differences that could also affect memory, such as IQ, are controlled for.
10
Possible suggestions include:
· the location
· conditions in which the test will be administered

Example answer:

One environmental variable that might be controlled could be that all participants must undertake the test in the same place at the same time of day, e.g. in the morning.
11
Possible suggestions include:
· To increase the validity of the study it is important to control the time of day the memory test is set. This is because if some participants are tested in the morning and some later in the day, the time of day might affect the performance on the memory test, and how tired participants would be as well as the effect of age on memory.

· Since the test involves learning words, it is important that the conditions of the test are held constant. This avoids extraneous variables such as temperature or noise being different for some participants, which could affect their performance on the memory test and reduce the validity of the results. 

 Topic 8 The participants in research
1a
A sample is only a random sample when… every member of the target population to be studied has an equal opportunity to be selected.

b
A sample is an opportunity sample when… participants are selected by the researcher on the basis of who is available to participate at the time the research is to be conducted.

c
A representative sample means that… the sample of participants is representative of all the people in the target population to be studied. For example, if you want to research some behavioural characteristic of A-level psychology students, you will need to study A-level psychology students and not A-level physics students.

d
A sample is said to be biased when the participants… do not represent all of the people in the target population — for example, all are male, or female, or students, or share similar characteristics.

e
A large sample is needed when… the target population is large, or when the research has important implications — for example, testing a new drug.

f
In a small sample, the findings may be invalid because … individual differences in the participants may have an effect on what is being measured and thus on the findings.

g
A matched sample increases the validity of the findings because… the matching process reduces the chance that individual differences will have an effect on either the IV or the DV. 
2
The questions would ask students about their alcohol consumption and students may not wish their teachers (or others) to know that they are engaging in under-age drinking. Thus, they may respond untruthfully about whether they drink and about how much they drink. If students did answer the questions untruthfully, the findings of the study would not be a valid measure of under-age drinking in students.

3a
Possible suggestions include:
· The population of this study will be British students and teachers. Students will be aged 16–18 and teachers aged 30–50.

b
I would obtain a volunteer sample for the study. To recruit teachers I would place an advertisement in a magazine that teachers read (e.g. the TES) asking for volunteer participants. To recruit students I would send out posters to schools and colleges asking for student volunteers. One weakness with this sample, especially of teachers, is that we will only reach teachers who read the magazines in which we advertise, thus the sample is a biased sample of readers.
c
This is likely to obtain a biased sample because students and teachers who volunteer to take part in a study of reading books are likely to be confident and probably read a lot. People who are less confident or who do not read books would be less likely to volunteer.

d
The IV is naturally occurring and is whether the participant is a teacher or a student. 

e
The DV is book reading and is operationalised as how many novels the participant read in the previous month.
f
A demand characteristic is a feature of the research situation or the research procedure that gives cues to participants as to how they are expected to behave, leading to response bias in which participants may try to please the experimenter.

Exam-style questions

1
A volunteer (self selecting) sampling technique was used because the researchers put up posters advertising for participants. One weakness of this sampling method is that a biased sample may be obtained because the sample would only comprise people who were fit and prepared to engage in physical exercise. This would reduce the generalisability of the findings. 

3 marks: correct sampling technique and appropriate weakness clearly explained in context.

2
In a repeated measures design there is one group of participants and all participants experience both (or all) conditions of the IV. In this case their exam stress was measured before and after the exercise. (2 marks)
3
Example answers:
· When measured on a scale of 1–10 (where 10 is very relaxed) before and after participants run 100 m, participants will rate feeling significantly more relaxed after the physical exercise. 

4 marks: one-tailed alternative, fully operationalised.

· When measured on a scale of 1–10 (where 1 is very anxious) before and after participants run 100 m, participants will rate feeling significantly more anxious before the physical exercise. 

4 marks: one-tailed alternative, fully operationalised.

· Participants will report feeling less anxious after exercise. 

2 marks; one-tailed but not operationalised.

4
Students may make many suggestions. For example:
· All run the same distance, all at the same time of day, all run in same place etc.

The key to obtaining high marks is to ensure that the explanation for the suggested control is clear and in context.

5
Example answers:
· One strength of using self report is that how stressed or relaxed someone is feeling is subjective and it is difficult to gain this information in any other way. Obtaining the information at first hand from the participant increases the validity of the research because only the participant knows how stressed or relaxed they are. 

3 marks; appropriate strength identified and in context.

· One weakness of using self report is that even when participants select the same rating, we cannot assume that they are equally anxious or relaxed, or that they are telling the truth. If participants overestimate or underestimate their anxiety/relaxation, the research has reduced validity. 
3 marks; appropriate weakness, the explanation could be clearer but in context.

· One weakness of using self reports is that people may lie. 

1 mark; no explanation and no context.

 Topic 9 Data analysis and presentation
1
The aim of the research is to find out whether the type of music people listen to (happy or sad) can affect whether they feel happy or sad.

2
The IV was whether the participants listened to 5 minutes of sad classical music or 5 minutes of jolly Christmas songs. 

The DV was the participants’ self report of mood on a ‘mood questionnaire’ after they had listened to the music. On the mood questionnaire, the scores ranged from 10 to 40, where high scores indicated feeling happy.

3
The experimental design was an independent groups design where participants were randomly allocated to either the happy or sad music conditions. 

4
One weakness of an independent groups design is that there may be important and uncontrolled differences between the groups of participants, such as what type of music they like, that are not removed by the random allocation of participants between conditions, in which case experimental validity is reduced because these differences may have more effect than whether they listen to happy or sad music. 

5
One advantage of collecting quantitative data is that average scores can be calculated for each group, and then comparisons can be made to find out whether there is a difference in the average mood between the sad classical group and the jolly Christmas songs group. 
6
One advantage of using the mean as a measure of central tendency is that the mean is a sensitive measure because it takes all the values from the raw scores into account, thus giving an accurate average of all of the scores in both the sad music and happy music condition. 
7
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8
Suggested answer:
· From looking at the bar chart we can conclude that participants who listened to the jolly Christmas songs were feeling 50% happier than the participants who listened to the sad classical music. 

9
Suggested answer:
· Conduct a survey using an opportunity sample of people who have been attending a concert. Use a self-report method (a questionnaire) to ask people whether the type of music they listen to affects their mood, and what type of music makes them feel happy or sad. 

Exam-style questions

1a
The data are scores out of 100. These are ordinal data as the scores can be ranked lowest to highest. 

2 marks awarded; correct answer and explanation.

b
Example answer:
· One variable that might affect the results is the individual students’ ability at maths. If some students were good at maths and others less able, these individual differences are likely to have more of an effect on their scores than the temperature of the classroom. 
3 marks awarded: 1 mark an appropriate variable identified, 2 marks for explanation in context.

c
One way the researcher could control for individual differences in maths ability would be to use a matched sample design. Prior to the experiment, the students could be given a maths test, similar to the one to be used in the experiment, and then allocated to the warm and cold classroom groups in pairs matched on their test scores. 

3 marks awarded: 1 mark for appropriate suggestion, 2 marks for a clear explanation in context.

d
One advantage of using the median is that the measure of central tendency is not affected by extremely low or extremely high scores. In this experiment there are only ten participants in each condition (warm and cold classrooms), and data from small samples are more likely to be affected by large individual differences in maths scores. 

3 marks awarded: 1 mark for an appropriate suggestion, 2 marks for the explanation in context.

e
The following is an example answer that could be used as a model for student practice. 

Describe:

The method is a laboratory experiment. The design is an independent design. The IV is whether participants sit the maths test in the warm or the cold classroom. The DV is the score out of 100 on 
the maths test.

The sampling method is an opportunity sample of students who study AS maths. My sample will be 20 students who are all in the same class, aged 16–17. The material is a maths test containing 100 questions — 25 additions, e.g. 120 + 340; 25 subtractions, e.g. 540 – 310; 25 multiplications, 
e.g. 13 ( 7; 25 divisions, e.g. 100/4. The students must complete the test without a calculator.

The 20 students will be randomly allocated to either the warm or the cold classroom by drawing their names from a hat. There will be 10 students in each condition. 

An ethical briefing will be given in which participants will be told that the aim of the experiment is to find out whether the temperature of the classroom affects student performance in exams. Students will be told they will be given a maths test and that they can withdraw. Participants will be taken to a warm classroom (about 24(C) or to the cold classroom (about 16(C) and will be seated at a desk on which the maths test is waiting. They will each be given a pen and 40 minutes to complete the test without using a calculator. After 40 minutes the tests will be collected, participants will be debriefed and thanked for their time. They will also be told that they can have a copy of the results of the experiment if they wish. The maths tests will be marked and each correct answer will be given 1 mark. The maximum mark is 100. Descriptive statistics — mean, and range — will be calculated to enable scores to be compared. (This is replicable and should be awarded 5 marks.) 
Evaluate:

The most likely suggestions are:

· Low experimental validity because of uncontrolled individual differences in maths ability. 

· Low ecological validity because students are not really sitting an exam that matters to them and so won’t make the same amount of effort. 

· High reliability because the standardised experimental procedure can be replicated. 
Remind students that it is the procedure that is to be evaluated and if they evaluate the sample they will lose marks.

2a
The sampling technique is a volunteer sample (self selecting) because the participants responded to the posters advertising the study. One weakness with this volunteer sample is that because the posters said that the study was about memory, the resulting sample may be a biased sample because only people who thought they had a good memory might volunteer and having a biased sample reduces the generalisability of the results. 

4 marks: 1 mark for the appropriate technique, 3 marks for the weakness clearly explained in context.

b
An independent design is where each participant only experiences one condition of the IV, in this research, they either play Scrabble every day for a week or they do not play Scrabble. (2 marks)
c
Possible suggestions include:
· Controlling for the effect of playing any word games — the non-Scrabble playing group should be asked not to play any word games. 

· Controlling for memory ability — matching the sample before the Scrabble playing starts.

· Controlling for spelling ability — especially in the Scrabble playing group.

· Controlling for whether students live in rural or city environments — country dwellers may know more names of rivers and trees.

3 marks will be awarded for each suggestion in context: 1 mark for each suggestion and 2 marks for each explanation in context.

d
The DV is a measure of memory — operationalised as how many words from a list of 25 could be remembered in 2 minutes. The words were all names of rivers and trees. (2 marks)
Remind students to describe how the DV is operationalised if they are asked to identify or describe a DV.

e
Example answers:
· One weakness of measuring memory by asking people to memorise a list of names of rivers and trees is that the test has low ecological validity. This is because there are many different kinds of memory and memorising lists of facts, especially rivers and trees, under timed conditions, is not something that most people need to do. Thus the test may not be measuring how people use their memory in their everyday lives. 

3 marks awarded for the weakness identified and explained.

· A strength of measuring memory by conducting an experiment in which people are randomly allocated to conditions and then asked to memorise a list of names of rivers and trees is that the test has high reliability. This is because a standardised experimental procedure was used, and the same list of trees and rivers could be used to test the memory of another sample of participants.
3 marks awarded for the strength identified and explained.

f
Participants who play Scrabble for 1 hour every day for a week will remember more names of rivers and trees from a list of 25 than participants who are given the same list to memorise without playing Scrabble. 
Ask your students: have they written the alternative hypothesis (1 mark), have they fully operationalised the IV (1 mark), have they fully operationalised the DV (1 mark)? Is the hypothesis appropriate to the context of the study? (1 mark)

g
Example answers:
· The type of data collected are ordinal because numeric scores out of 25 can be ranked lowest to highest (1 mark awarded). The lists of rivers and trees will be marked and each correct answer will be awarded 1 mark, giving a maximum mark of 25.  The measures of central tendency — mean and median — will be calculated so that scores from both word game condition and no word game condition can be compared 

3 marks awarded, 2 for suggestion and 1 for context.

· The range of both sets of scores will be calculated to allow comparisons of the spread of the scores in both conditions. 

2 marks awarded, no marks for context.
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